Parameter set (ECM,DNAdam) = (0, 1):
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Model: EMT-O, initial condition: [0, 0, 0,0, 0, 1, 0, 1]
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Model: EMT-O, initial condition: [0, 0, 0, 0, 1, 0, 0, 1]
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Model: EMT-B, initial condition: [0, 0, 0, 0, 1, 0, 0, 1]
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Model: EMT-E, initial condition: [0, 0,0, 0, 1, 0, O, 1]
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Model: EMT-O, initial condition: [0, 0, 0,0, 1, 1, 0, 1]
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Model: EMT-O, initial condition: [0, 0,0, 1, 0, 0, 0, 1]
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Model: EMT-B, initial condition: [0, 0, 0, 1, 0, 0, O, 1]
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Model: EMT-O, initial condition: [0, 0,0, 1,0, 1, 0, 1]
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Model: EMT-O, initial condition: [0, 0,0, 1, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 0,0, 1,1, 1,0, 1]
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Model: EMT-BW, initial condition: [0, 0,0, 1,1, 1,0, 1]
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Model: EMT-O, initial condition: [0, 0, 1,0, 0, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 0,1, 0,0, 1, 0, 1]
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Model: EMT-O, initial condition: [0, 0, 1,0, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 0,1,0,1, 1,0, 1]
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Model: EMT-O, initial condition: [0, 0,1, 1,0, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 0,1, 1,0, 1,0, 1]
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Model: EMT-O, initial condition: [0, 0,1, 1,1, 0,0, 1]
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Model: EMT-O, initial condition: [0, 0, 1,1, 1, 1,0, 1]
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Model: EMT-O, initial condition: [0, 1, 0, 0, 0, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 1, 0,0, 0, 1, 0, 1]
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Model: EMT-O, initial condition: [0, 1, 0,0, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 1, 0,0, 1, 1, 0, 1]
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Model: EMT-O, initial condition: [0, 1, 0, 1, 0, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 1,0, 1,0, 1, 0, 1]

1.0
0.8
>
§ —— NICD
o —— Notch
3 0.6 1 —— TP53
»; —— TP63TP73
v 0.4 —— miRNA
8 — EMTreg
4 0.2 —— ECM
<O —— DNAdam
0.0
7. 5 10 0 12 5 15 0 17 5
Time
Model: EMT-FW, initial condition: [0, 1,0, 1,0, 1, 0, 1] Model: EMT-BW, initial condition: [0, 1, 0, 1,0, 1, 0, 1]
1.0 1.0
2 0.81 2 0.8+
© ©
> >
S 0.6 S 0.61
o [e]
C c
ks G
o 0.4 v 0.4
()] (o)}
o ©
g g
< 0.2 < 0.2
0.0 1 0.0
0 5 20 0 20 40 60 80 100
Time Time
Model: EMT-A, initial condition: [0, 1,0, 1,0, 1, 0, 1] Model: EMT-B, initial condition: [0, 1,0, 1,0, 1, 0, 1]
1.0 1.0
2 0.81 £ 081
© ©
> >
S 0.6 S 0.61
[e] [e]
c C
G ‘G
v 0.44 v 0.4
(o)} (o)}
© ©
g g
< 0.2 < 0.2
0.01 0.0
0 20 40 60 80
Time Time
Model: EMT-C, initial condition: [0, 1,0, 1,0, 1,0, 1] Model: EMT-E, initial condition: [0, 1,0, 1,0, 1, O, 1]
1.0 1.0
g0.8 L 0.8
© ©
> >
() ()
kS 0.6 S 0.6
C C
Y Y
o o
v 0.4 o 0.4
()] ()]
© ©
2 2
< 0.2 < 0.2 1
0.01 0.01 —
100 0 2 4 6 8 10 12

Time Time



Model: EMT-O, initial condition: [0, 1,0, 1, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 1,0, 1,1, 1,0, 1]
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Model: EMT-O, initial condition: [0, 1,1, 0, 0, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 1,1, 0,0, 1, 0, 1]
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Model: EMT-O, initial condition: [0, 1,1, 0, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 1, 1,0, 1,1, 0, 1]
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Model: EMT-O, initial condition: [0, 1,1, 1,0, 0, 0, 1]
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Model: EMT-O, initial condition: [0, 1,1, 1,0, 1,0, 1]
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Model: EMT-O, initial condition: [0, 1,1, 1,1, 0,0, 1]
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Model: EMT-O, initial condition: [0, 1, 1,1, 1, 1,0, 1]
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Model: EMT-O, initial condition: [1, 0, 0, 0, 0, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 0, 0,0, 0, 1, 0, 1]
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Model: EMT-O, initial condition: [1, 0, 0,0, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 0, 0,0, 1, 1, 0, 1]
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Model: EMT-O, initial condition: [1, 0,0, 1, 0, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 0,0, 1,0, 1, 0, 1]
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Model: EMT-O, initial condition: [1, 0,0, 1, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 0,0, 1,1, 1, 0, 1]
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Model: EMT-O, initial condition: [1, 0, 1,0, 0, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 0,1, 0,0, 1, 0, 1]

1.0
0.8
>
§ —— NICD
o —— Notch
3 0.6 1 —— TP53
»; —— TP63TP73
v 0.4 —— miRNA
8 — EMTreg
4 0.2 —— ECM
<O —— DNAdam
0.0
0 5 10 15 20
Time
Model: EMT-FW, initial condition: [1, 0,1, 0,0, 1, 0, 1] Model: EMT-BW, initial condition: [1, 0,1, 0,0, 1, 0, 1]
1.0 1.0
2 0.81 2 0.8+
© ©
> >
S 0.6 S 0.61
o [e]
C c
ks G
o 0.4 v 0.4 1
()] (o)}
o ©
g g
< 0.2 < 0.2
0.0 1 0.0
0 5 10 15 20 25 0 20 40 60 80 100
Time Time
Model: EMT-A, initial condition: [1, 0,1, 0,0, 1, 0, 1] Model: EMT-B, initial condition: [1, 0,1, 0,0, 1, 0, 1]
1.0 1.0
2 0.81 £ 081
© ©
> >
S 0.6 S 0.61
[e] [e]
c C
G ‘G
v 0.4 v 0.4 1
(o)} (o)}
© ©
g g
< 0.2 < 0.2
0.01 0.0
0 20 40 60 80 100 0 20 40 60 80
Time Time
Model: EMT-C, initial condition: [1, 0,1, 0,0, 1, 0, 1] Model: EMT-E, initial condition: [1, 0,1, 0,0, 1, O, 1]
1.0 1.0
2 0.8 2 0.8
© ©
> >
() ()
kS 0.6 S 0.6
C C
Y Y
o o
o 0.4 o 0.4
()] ()]
© ©
2 2
< 0.2 1 < 0.2 1
0.01 0.01
0 20 40 60 80 0 2 4 6 8 10 12 14

Time Time



Model: EMT-O, initial condition: [1, 0,1, 0, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 0, 1,0, 1, 1,0, 1]
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Model: EMT-O, initial condition: [1, 0,1, 1,0, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 0,1, 1,0, 1,0, 1]
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Model: EMT-O, initial condition: [1,0, 1,1, 1,0, 0, 1]
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Model: EMT-O, initial condition: [1,0,1,1,1, 1,0, 1]
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Model: EMT-O, initial condition: [1, 1, 0,0, 0, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 1, 0,0, 0, 1, 0, 1]

1.0
0.8
>
§ —— NICD
o —— Notch
3 0.6 1 —— TP53
»; —— TP63TP73
v 0.4 —— miRNA
8 — EMTreg
4 0.2 —— ECM
<O —— DNAdam
0.0
25
Time
Model: EMT-FW, initial condition: [1, 1,0, 0, 0, 1, 0, 1] Model: EMT-BW, initial condition: [1, 1, 0,0, 0, 1, 0, 1]
1.0 1.0
2 0.81 2 0.8+
© ©
> >
S 0.6 S 0.61
o [e]
C c
ks G
o 0.4 v 0.4 1
()] (o)}
o ©
g g
< 0.2 < 0.2
0.0 1 0.0
00 25 50 7.5 10.0 12.5 15.0 17.5 20.0 0 20 40 60 80
Time Time
Model: EMT-A, initial condition: [1, 1, 0,0, 0, 1, 0, 1] Model: EMT-B, initial condition: [1, 1, 0, 0,0, 1, 0, 1]
1.0 1.0
2 0.81 £ 081
© ©
> >
S 0.6 S 0.61
[e] [e]
c C
G ‘G
v 0.4 v 0.4 1
(o)} (o)}
© ©
g g
< 0.2 < 0.2
0.01 0.0
80 0 20 40 60 80
Time Time
Model: EMT-C, initial condition: [1, 1, 0,0, 0, 1, 0, 1] Model: EMT-E, initial condition: [1, 1,0, 0,0, 1, 0, 1]
1.0 1.0
¢ 0.8 $0.87
© ©
> >
(] (V]
S 0.6 1 S 0.6 1
c c
Y— Y—
(o] (o]
o 0.4 o 0.4
(o)} (o)}
© ©
g g
< 0.2 < 0.2
0.0 1 0.0 1
100 0 2 4 6 8 10 12 14

Time Time



Model: EMT-O, initial condition: [1, 1, 0,0, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [1,1, 0,0, 1,1, 0, 1]
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Model: EMT-O, initial condition: [1, 1,0, 1,0, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 1,0, 1,0, 1, 0, 1]
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Model: EMT-O, initial condition: [1, 1,0, 1, 1, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 1,0, 1,1, 1,0, 1]
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Model: EMT-O, initial condition: [1, 1,1, 0,0, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 1,1, 0,0, 1, 0, 1]
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Model: EMT-O, initial condition: [1, 1,1, 0,1, 0, 0, 1]
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Model: EMT-O, initial condition: [1,1,1,0,1, 1,0, 1]
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Model: EMT-O, initial condition: [1, 1,1, 1,0, 0, 0, 1]
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Model: EMT-FW, initial condition: [1, 1,1, 1,0, 0, 0, 1]
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Model: EMT-O, initial condition: [1, 1,1, 1,0, 1,0, 1]
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Model: EMT-O, initial condition: [1,1,1,1, 1,0, 0, 1]
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Model: EMT-O, initial condition: [1,1,1,1,1,1,0, 1]
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